» Confidence Intervals for a Population
Proportion p

Constructing a confidence interval for a population proportion p is similar 1
constructing a confidence interval for a population mean. You start with a pob
estimate and calculate a margin of error.
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The probability that the confidence interval contains p is ¢.
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Constructing a Confidence Interval for a Population Proportion
Sf:iaiy Ti o : _ bir erds £ Svmbols
{ere are instructions for 1. Identlfy the Sample statistics n and x.
-onstructing a confidence ) ) . . . X
nterval for a population 2. Find the point estimate p. pP=7
sroportion on a TI-83/84. . . T A A
3. Verify that the sampling distribution of np=5nqg=>5
i p can be approximated by the normal
Choose the TESTS menu. distribution.
A: 1-PropZint 4. Find the critical value z. that corresponds Use the Standard
Enter the valics for to the given level of confidence c. Normal Table.
x, n, and the level of . . . pq
confidence ¢ (C-Level). 5. Find the margin of error E. E =z Eng‘
Then select Calculate. . . .
—— 6. Find the left and right endpoints Left endpoint:
and form the confidence interval. p—E
Right endpoint:
p+E
Interval:
p—E<p<p+E
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